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B B fr)=2*+2c+1, Ha, 8,75 f(z) =0 ZHRZIR,
K (a® —=2)(8° - 2)(7? — 2).

a+ B+ =0
BEH. BURSURBIIRE { af 1 By +ra =2 o
afy =-1

FTREBRRG o 6%y° — 2(a?B% + 29° +7%a%) + 4(” + B> +9%) — 8.
Hefto? + 82 +9° = (a+ 8 +7)° = 2(af + By +ya) = —4,

o’ + 29° +7%a® = (af + By +ya)® = 2a8y(a+ B+ ) = 4.
HETR = (=1)2—2-4+4-(—4) — 8 = —31,

B (0 -2)(8°-2)(v" - 2) = (e = V2)(B - V2)(y = V2)(a + V2)(B + V2) (v + V2)
= (V2-a)(vV2 - B)(V2 = 7)(-V2 - a)(-V2 - B)(-V2 - 7)
= f(V2)- f(—V2)
= (4V2+1)(=4vV2 + 1)
—1-32=-31

& f(z) =/(x =22+ 22+ /(x =5+ (-2)°, &K f(2) BRME.

2. 3% g(x) = Va2 — 40x + 47 — 13- 2041 1 569 — /22 — 4o + 4% — 5 - 2712 4 104,
Eiﬁj? g(z) FRKIE,

f##1. 4 P(x,0), A2, —2), B(5,2), Bl f(x) = PA+ PB,
HEATERHM PA+ PB > AB=+3?+42 =5,
H P 5 AB (R « Sho 2SS, SREOL, MUR/IMES 5.

fEf2. EE g(o) = /(. —20)2 + (27 — 13)2 + /(= — 2)2 + (2* — 10)2,
4 P(z,27), A(20,13), B(2,10), Al g(z) = PA+ PB < AB = 3/37,
ERT By=2" 2HBER, MIPET L, ATHKET EF, BEHRD £H. fGER/
B ARERERAT), BT P— B— A Z83te(H B 7€ PAREL). 5 AB 86T &
W, H—7E AB #jE, B—EMPE_KReE, BER/MEZE P FifE.
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